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1.  (A) Evaluate the work of Vienna Congress.

(B)
2. (A)

(B)
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OR

Discuss the causes of Failure of concerts of Europe.
Match the Pair of ‘A’ and ‘B’: (Any four)

(D
)
3)
4
)
(6)

Part— A

Holand

A.D.1822

Quadruple Alliance
Elashapel convention
Corsica

Maternick

(a)
(b)
(©)
(d)
(e)
®

[Max. Marks : 70

14
4
Part— B
Birth Place of Napoleon
Orange Dynasty

Verona’s Convention

A.D.1818

Prime Minister of Austria

A.D.1815

Explain the causes of French revolution of 1830A.D. and its effects on Europe. 14

OR

Discuss the causes of French revolution of 1848A.D.
Fill in the Blanks : (Any four)

(D
2
3)

4

)
(6)

Louie Philip was the king of race. (Orleans, Bourbon)

Napoleon’s bones were buried in

On 18 March, 1848, resigned as president of Austria. (Gizo,

Maternick)

. (Paris, Elba)

After the revolution of the 1830 there was a Successful revolution in

(Belgium, Germany)

King Philip gave the

At the Vienna Convention there was a treaty of

Germany. (38,39)

Flag as the National Flag. (Tricolour, White)

kingdoms of the

P.T.O.



3. (A) Evaluate the effects of Industrial revolution.

(B)

4. (A

(B)
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OR

Evaluate the causes of Industrial revolution.

State whether the following statements are true (v') or False (x) : (Any three)

(1)
2)
€)
(4)
©)

The Industrial revolution began in England.

In 1817 Graham bell invented the steamer.

Chartist movement was been due to industrial revolution.
Bank of London was established in England in 1694 A.D.

Importance of metals such as gold and silver have increased very much due
to Industrial revolution.

Discuss about the modernization of Japan during the period of Meiji era.

OR

Examine the administration system of the Meiji’s regime.

Write answers in one sentences : (Any three)

(1
2
3)

4
)

How many houses are there in Japanese Parliament?
Who was the pioneer of the reform movement in Japan?

Which religion was acknowledged by the king Meiji as the national
religion?

When did the new constitution come into effect in Japan ?

What is the original name of Japanese emperor Meiji?
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1. (A) Discuss the causes and effects of French revolution. 14
OR
Explain the Military achievements of Napoleon Bonaparte.
(B) Match the Pair of ‘A’ and ‘B’: (Any four) 4
Part— A Part—B
(1) A.D.1789 (a) French thinker
(2) Napoleon (b) Rousseau
(3) Napoleon’s Death Place (¢) French revolution
(4) Estate General (d) Saint Helena
(5) Writer of Social contract () Child of French revolution
(6) Walter (f)  Parliament of France
2. (A) Explain the causes and effects of Industrial revolution. 14
OR
Examine the achievements of Meiji period.
(B) Fill in the Blanks : (Any four) 4
(1) Industrial revolution is the story of . (Class Divisiveness, Slavery)
(2) Japan Parliament is known as . (Duma, Diet)
(3) In 1832, Faraday discovered the power of . (Water, Electricity)
(4) The Lower house of the Japanese parliament was composed of the
(Aam sabha, Umrav sabha)
(5) Industrial revolution startedin _ A.D. (1850,1750)
(6) In Japan at the age of 14, Emperor  came to the throne. (Shogun,
Mutsuhito)
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3. (A) Discuss the causes of Chinese revolution of 1911 .A.D.in detail. 14

(B)

4. (A

(B)
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OR

Criticize the causes of Russian revolution of 1917 A.D.

State whether the following statements are true (v') or False (x) : (Any three) 3

(1)  Opium conflict fought between China and Japan.

(2) Tzar Rulers had divine rights.

(3) Hankau’s bomb explosion was the immediate reason for the revolution of
China.

(4) Russia’s Parliament is called Diet.

(5) Dr.Sun-yat-sen established a revolutionary organization named Tung-
Mang-Hue.

Explain the causes of First World War. 14
OR

Evaluate the achievements of League of Nation.

Write answers in one sentences : (Any three) 3

(1) What was the immediate cause of World War-1 ?

(2) What are the main five organs of the League of Nation?

(3) How many amount of Penalty was imposed on Germany in the treaty of
Versailles ?

(4) Which dynasty was ended in Russia after World War-1?

(5) What s the full name of W.H.O.?




